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O-K M X & | HEK % = i
001 | & H Hr 513 569 650 1,219
002 " K H 665 752 815 1,567
003 £ & H # 349 328 324 652
004 | & % H 988 1,186 1,063 2,249
005 | X 33 T 721 839 869 1,708
006 | & @& F M 1,387 1,686 1,560 3,246
007 | #& A T 167 251 194 445
008 | 5 4 Hr 811 928 955 1,883
009 [ K f& H 947 709 707 1,416
010 | R H i) 1,108 1,404 1,502 2,906
o1 | £ B F M 669 818 850 1,668
012 [ A H 879 1,101 1,267 2,368
013 | #8h H i) 949 736 814 1,550
014 & &R BT 874 1,062 1,100 2,162
015 | # B  H 117 142 163 305
061 | XFEET—TEH 32 33 24 57
062 | XFEHEZTBH 215 201 202 403
063| XFEHE=TEH 13 38 60 98
064 | XFEHEMTH 97 106 121 227
071 | £HFAHEI—TH 38 29 45 74
072 | £FHFABIZTH 259 260 231 491
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oK X F | HEK 5 = i
081 | M BT — T H 0 0 0 0
082 [ A BT Z T H 32 771 o8 829
083 | A BT = T H 162 162 180 342
091 | QLB —TH 73 77 100 177
092 | BT —TH 71 236 384 620
101 | R ET—TH 104 104 105 209
111 | FEHE—TH 123 139 123 262
112 | FEHEZTH 85 73 63 136
113 | FEHE=TH 106 105 124 229
114 | FHEHEMTH 148 134 159 293
115 | FEHEATH 142 105 155 260
116 | FHHEARTH 132 119 128 247
117 | FLHHEETH 118 135 152 287
118 | FHHEI/NTH 144 151 145 296
121 | EBFHE—TH 79 65 79 144
122 | EBFHIZTH 51 64 65 129
123 | EBFHEHI=TH 79 74 89 163
124 | EBFHIUTH 71 67 50 117
125 | ERFHEATH 101 101 106 207
126 | EBFHEIATHE 145 122 117 239
127 | EBFHETH 143 96 159 255

a it 13,107 16,078 16,057 32,135




